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[10] 1. Letu=(-1,0,1) and let v= (-1, -2, 1). Calculate, or explain why it is not
possible to find:
a) || 2u-3v|,
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[10] 4. Use Gauss-Jordan elimination to solve the following system:
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Values
Let A(1,1,2) and B (-2, 1,0) be two points.

[10] 2
a) Find the orthogonal projection of @ onto the vector a = (1, 1,-1).
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b) If the point C has coordinates (k, 1, 2) and the area of the
triangle ABC is 3, find k.
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[12] 3. Given the line ! with parametric equations x =2-6t , y=4t, z=1+2t
and the planes IT,: x+3y—-3z+7=0 and Il,: x+y-2=0

a) Show that the line / is parallel to the plane II, .
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(-6,4,2)-(1,3,-3)= -6 t2-6=0 b S0
b) Find the distance between the line | and the plane II,.
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¢) Find a point normal equation of the plane through the point P (1, 2, -4)
that is perpendicular to both planes I, and II,.
T, 1 {1z, ST sl

1

i (8 % (Ll = R e
| i

- [—3431—r-1m}l—3{}

b= (o2 B Y=o L oty

O(x-1) + i(y-2) ¥ \(2+4)\=0
14'+-?_- Y=



